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QUESTION 1

Identify the four main Types of roadmaps reviewed. (Choose four.)
A. Upgrade Roadmap

B. Global template roadmap

C. Download Roadmap

D. Implementation roadmap

E. Solution Roadmap

F. Solution Management Roadmap

Correct Answer: ABDF

QUESTION 2

Which of the following is defined in the PA transfer structure?

A. Assignment of source cost elements to allocation cost elements.
B. Assignment of cost elements to value fields.

C. Assignment of master data to characteristics.

D. Assignment of distribution rules to certain cost elements.

Correct Answer: B

QUESTION 3
Which of the following statements is not correct with reference to revaluation?
A. We can increase or decrease planning data on a percentage basis.

B. We can revaluate assessment cost center, imputed cost elements and cost elements used in indirect activity
allocation.

C. We can revaluate all cost elements used in the primary cost element and revenue planning.
D. We can revaluate cost and amounts.

Correct Answer: B

QUESTION 4
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How can you achieve periodic controlling when a lot size based production scenario is used by logistics? (Choose two.)
A. Use an internal order in addition to the production order.

B. Adjust the default rule in the default values for the production order type.

C. Adjust the costing type of the plan costing variant.

D. Use a product cost collector in addition to the production order.

Correct Answer: BD

QUESTION 5

Which of the following are the usage scenarios for Solution Manager? (Choose three.)
A. Implementation

B. Validation

C. Optimization

D. Retirement

E. Operations

Correct Answer: ACE
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